
43 Lecture - MGT111

Important Mcqs

1. Which of the following is a key feature of New Public Management (NPM)?
a) Bureaucratic structure
b) Decentralization
c) Political influence
d) Emphasis on hierarchy

Answer: b) Decentralization

2. What is the main goal of NPM?
a) To increase bureaucracy
b) To improve efficiency and effectiveness of public sector organizations
c) To promote political interference
d) To reduce accountability

Answer: b) To improve efficiency and effectiveness of public sector organizations

3. Which of the following is not a characteristic of NPM?
a) Focus on results
b) Decentralization
c) Increased government regulation
d) Performance-based management

Answer: c) Increased government regulation

4. What is the primary focus of NPM?
a) Increasing public sector employment
b) Reducing public sector employment
c) Improving public sector performance
d) All of the above

Answer: c) Improving public sector performance

5. NPM emphasizes which of the following management practices?
a) Performance-based management
b) Hierarchy-based management
c) Rule-based management
d) Centralized management

Answer: a) Performance-based management

6. Which of the following is not a benefit of NPM?
a) Increased accountability
b) Improved customer focus



c) Reduced bureaucracy
d) Increased political interference

Answer: d) Increased political interference

7. NPM is most closely associated with which type of organization?
a) Private sector organizations
b) Non-profit organizations
c) Public sector organizations
d) None of the above

Answer: c) Public sector organizations

8. Which of the following is a criticism of NPM?
a) It is too expensive to implement
b) It does not increase efficiency
c) It leads to the privatization of public services
d) It does not emphasize customer focus

Answer: c) It leads to the privatization of public services

9. What is the main purpose of decentralization in NPM?
a) To reduce the power of government
b) To increase the power of government
c) To improve decision-making
d) To increase bureaucracy

Answer: c) To improve decision-making

10. What is the primary advantage of NPM?
a) Increased accountability
b) Reduced bureaucracy
c) Improved decision-making
d) All of the above

Answer: d) All of the above


